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 m‡e©v”P b¤^i 99 92 99 94 95 94 96 100 758 - -  

01 Avãyjøvn Avj-gvng~` 68 49 83 67 92 66 89 85 599 74.9 Rv.wR  

02 Bgvg nvmvb 99 93 99 93 94 87 95 98 758 94.8 gygZvh 1g 
03 BbÕAvgyj nK 72 71 93 90 92 76 96 100 690 86.3 gygZvh  

04 Rvwn`yj Bmjvg 80 74 95 88 95 78 94 96 700 87.5 gygZvh  

05 AvwkKzi ingvb 49 27 76 65 85 54 88 75 519 64.9 Rvwq¨`  
06 RybvB` Avj-nvexe 13 20 25 44 65 35 94 75 371 46.4 ivwme  

07 bvdxm mvw`K 68 43 89 60 78 48 87 77 550 68.8 Rv.wR  

08 gyÕZvwmg wejøvn 94 95 99 78 90 88 95 95 734 91.8 gygZvh 3q 
09 Ave~ eKi bvwn` 90 92 99 94 93 94 93 100 755 94.4 gygZvh 2q 

10 Dmgvb Mbx 71 65 85 84 84 71 94 96 650 81.3 gygZvh  

11 Bqvmxb AvivdvZ 52 65 89 51 64 69 95 100 585 73.1 Rv.wR  
12 Avãyjøvn wmqvg 35 32 46 49 76 35 85 85 443 55.4 Rvwq¨`  

13 gvÕiƒd †kL 88 78 95 86 88 89 93 98 715 89.4 gygZvh  

14 gyRxeyjøvn 88 71 98 89 88 75 93 100 702 87.8 gygZvh  
`dZ‡i ZvÕjxgvZ 

cixÿvi gvb eÈb: 
†gvU b¤^i  : 1008 = 800 
gygZvR  : 808 = 640 
Rvwq¨` wRÏvb  : 658 = 520 
Rvwq¨` : 508 = 400 
gKe~j  : 358 = 280 


